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INERR
ERES z 7
{FI& T BEE{EM IR - E S tER IR D HIFER KI&F REtER IR - ESERIRDHIRE
RE# |5 5|6 2 - = | . RE¥ |5 E [ - = |
em | 49 |[B#® | FE|E S m | g |[BH | HE| S
3FE4E 1,418 128.74 28.09 10.8% 88.0% 1.2% 1,327 128.13 2742 10.4% 88.9% 0.8%
4FEHE 1,411 134.18 31.95 14.2% 84.1% 1.6% 1,446 134.73 31.32 9.6% 87.7% 2.7%
54 1,528 139.54 35.38 13.0% 84.7% 2.3% 1,432 141.25 35.24 9.3% 87.9% 2.7%
6E4E 1,423 146.00 40.08 15.1% 81.0% 3.9% 1,393 148.06 41.01 12.5% 84.7% 2.8%
s 4
AR
5 7 z 7
R fEEER IR - E S ER IR D HIRE KI&T REtER R - ESERIROHIEER
AR B R B E | o | e g g [T 2R [BE 2 g|as
(cm) (kg) (cm) (kg)
1645 1,420 | 154.14 4588 12.4% 83.5% 4.1% 1,314 152.54 44 30 7.6% 88.4% 4.0%
2F 4 1,402 161.29 50.38 10.3% 86.2% 3.4% 1,385 155.40 47.46 1.7% 87.7% 4.7%
3ELE 1,432 166.10 54.77 10.2% 86.7% 3.1% 1,329 156.76 49.60 6.9% 89.5% 3.5%

KT SIHEMDEIBDEAIFTA L B (Fem )
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1413 28.09 5.79 1397 31.95 7.20
OINERBFESE OINERAESE
Nen B . . . . . . . 'l -l-'- . . . . .
~15 ~20 ~25 ~30 ~35 ~40 ~45 ~50 ~55 ~60 ~65 ~70 ~75 ~80 ~15 ~20 ~25 ~30 ~35 ~40 ~45 ~50 ~55 ~60 ~65 ~70 ~75 ~80
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EREHN) F 1 (ke) ZERE EREBN) 391 (ke) BERE
1394 45.88 11.02 1370 50.38 11.17
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~15 ~20 ~25 ~30 ~35 ~40 ~45 ~50 ~55 ~60 ~65 ~70 ~75 ~80 ~15 ~20 ~25 ~30 ~35 ~40 ~45 ~50 ~55 ~60 ~65 ~70 ~75 ~80
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RN 918 (ke) RERE EREHN) 3591 (ke) RERE
1294 44.30 7.72 1361 47.46 7.84
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=33:{N) FA9ME (k) RERE T L EI G e [ om# o@a oms |
1281 49.60 7.34
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hERIFELE na [ 96 | 87 27
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BmErRE-EHERROHBEROFHH - $IEHE>
REEEROREBUY =27 L (KETHR) 1&Y
FR18E3AS AR (M) BARERE

REKREKY = a x HRem) — b
BEE(%) = (B20hEK — REKEK] +~ FEKEK) x 100

ZHERELRODHFZRM FIERAE
P BF F B 53 BE HIFE
a b a b 50% Ll E = AR
6 (/M) 0.461 32.382 0.458 32.079 30~49.9% h % ERE
7 (h2) 0.513 38.878 0.508 38.367 20~29.9% BER&
8 (/I\3) 0.592 48.804 0.561 45.006 —19.9~19.9% EE
9 (/) 0.687 61.390 0.652 56.992 —29.9~—20% aSacs
10(/\5) 0.752 70.461 0.730 68.091 —30% LT EELE
11(/1\6) 0.782 75.106 0.803 78.846
12(51) 0.783 75.642 0.796 76.934
13(F2) 0.815 81.348 0.655 54.234
14(43) 0.832 83.695 0.594 43.264
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